O Pa Per 1 Test time: 17 minutes

Circle the correct answer for each question.

1 550 — 337

(a) 223 (b) 227 (c) 217 (d) 113 (e) 213
2 134 + 259

(a) 393 (b) 383 (c) 483 (d) 395 (e) 295
338x4

(a) 160 (b) 152 (c) 156 (d) 162 (e) 142
452

(a) 1 (b) 5 (o) ] (d) L (e) 1
5 128 + 4

(a) 32 (b) 36 (c) 27 (d) 37 (e) 64
6 What is the product of 16 and 9?

(a) 140 (b) 134 (c) 148 (d) 154 (e) 144
7 What is the sum of 58 and 67 rounded to the nearest 10?

(a) 120 (b) 100 (c) 150 (d) 130 (e) 110
8 673 + = 945

(a) 272 (b) 1618 (c) —-272 (d) 238 (e) -238

9 Richard and Samir share a tin of 45 biscuits. They share them in the ratio 7:2
How many biscuits will Richard get?

(a) 10 (b) 35 (c) 14 (d) 38 (e) 9
10 Estimate the number of circles in the rectangle. Do not count them.
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(a) 50 (b) 90 (c) 160 (d) 200 (e) 130

11 The rectangle below consists of 28 squares. If } of the squares were shaded,
how many squares would be shaded?
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(a) 4 (b) 7 (c) 8 (d) 9 (e) 14
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12 Jane worked for 7 hours delivering leaflets and her friend Sarah worked for 1 ho
In total they are paid £24 ur,
How much does Sarah get paid?

(a) £3 (b) £1 (c) £6 (d) £21 (e) £4 (2)
13 Which fraction is equivalent to ;0?

(a) (b) 5 (c) 5 (d) () 2 ()
14 Which decimal number is the same as the fraction 3 ?

(a) 0.34 (b) 0.75 (c) 0.075 (d) 0.7 (e) 0.0075 (1)
15 What is 750 centimetres converted into metres?

(a) 7.5m (b) 750m (c) 0.750m  (d) 0.075m  (e) 75m (1)
16 The length of this rectangle is twice its width. What is the perimeter of the

rectangle?

-— 120 cm — (3)

Not drawn accurately

(a) 240cm (b) 260cm (c) 360cm (d) 380cm (e) 180cm

17 What is the mean number of runs scored by these cricketers? 2)
Jamil 49 runs Danny 76 runs Diego 52 runs Peter 27 runs
(a) 86 runs (b) 51 runs (c) 56 runs (d) 72 runs (e) 52 runs

18 What is the value of g in the following equation? 2)
9+a=12
(a) 21 (b) 12 (c) -3 (d) 3 (e) 9

19 What is the value of 5 in the following equation? (2)
b-7=2
(a) 2 (b) -5 (c) -9 (d) 5 (e) 0

20 Which shape below is irregular? (1)

(a)@ (b) (c) A (d)@ (e)

Record your results and move
on to the next paper




